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Remember 1o copy the problem and only the

correct answer.

1. Look at the radical.
81726
What is & rewritten form ef the radical?
A 896
B. -90.75
c. -98616
D. -2904

2. Look at the expression.
2184120
Which of these is equivalent to this expressien?
A 228
B. 5

D. 3210

April 8, 2019, Monday - welcome back!!

3. Which sum is rational?

Tc 3755 TS

e 5\*\3«7\1@(

4. Which product is irrational?

A V2150
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1A 2¢c 3B 40D
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Characteristics of Cuadrafics

SAME FOR EVERY QUADRATIC GRAPH:

Zeros: x-intercepts (#,0) Yeintercept: (0, #) Domain: (0, +00)

Average Rate of change: From point A(xi, y1) to point B(xz, y2) is 22

SRS RS ‘
i

west point

Axis of Symmetry: x=—_|_ > x-value of the vertex
sntercot xintercept

Range: [~_7_, +0) Sy-value of the vertex
“ 2z

Extrema: minimum at the vertex

End Behavior:

Asx> o0, () St

~
AT iercopt

Asx>o0, () Dken
Interval of Increase: RIGHT of the graph (_ = | , +0) > x-value of the verlsx( ! _9)

Interval of Decrease: LEFT of the graph (~0, = l ) >x-value of the vertex

For a quadratic th
Vertex: highest point

Axis of Symmetry: x = 2 > x-value of the vertex /

Range: (—o, >y-value of the vertex

Ny .
Extrema’ maximum at the vertex
—_—
End Behavior:

Y J_‘.[

T g 5 g 5
Asx> 40, 1(x) S0 [
Interval of Increase: LEFT of the graph (~o, ;2 > x-value of tWvertex

Interval of Decrease: RIGHT of the graph (. g +o0)>x-value of the vertex
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Graphing Quadratics Using Tables
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10 x ()
8 2
3
El
4
2 0
PR S
08 6 42 | 246 810
5 1
) 5
6
8 Transformations:
10
Zeros: Vertex:
Yentercept: Axis of Symmetry:
2) Graph f(x) = x* — 4.
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Algebra 1~ U3C Day 1 Characteristics & Vocab of Quadratic Functions

Fill in each blank using the word bank

axis of symmetry

tex s the highest point on the graph, we call that a M A
ex is the lowest paint on the graph, we call that a__ 4.y

en
ur solutions are the 7 2 () /(001
8. Solutions 1o quadratic equations are called >/ = | N\ ooy pie
in ex,

b. axis of symmetry, and c. x-intercepts, and d. y-intercept of each quadratic function

a v {5 1%

i a7}
e merceons___ SORL
et o yintrosot__TTON

TOTD ~ U3C Day 1 Name.

xintercept(s): x-intercept(s)
y-intercept y-intercept:
Vertex Vertex:

Asxis of Symmery: Asis of Symmetry:

TOTD ~ U3C Day 1 Name

TOTD ~ U3C Day 1 Name

x-intercept(s): x-intercept(s)

yintercept yeintercept
Vertex: Vertex:

Axis of Symmetry: Axis of Symmetry:
test review

9) x%33z_ ¥«

ARx4 byt c=0
+HIx 4+ g x
‘X? 48x-33=0 b

L y) D %0
8
X=-9xT(H= l-lu)(sa\ 38 ﬁ‘&
T S &WL = dl
[Afx=2, 1 T

1?:'_1_1' 1 and ﬂgj_{:. the error. ;|-'L'|£]] .gjgg the
correct answer by solving by completing the
square.

ﬂ n o)

¥+6x-13=0
+13 403

- ’T o
x=-3 /13

X =-3TP




wk13 alg 2nd.notebook

non
EAr
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April 9, 2019, Tuesday

1. This equation can be used to find A, the number of hours It will take Flo and Bryan to mow thelr
lawn.

3x-2)=3 Wite the original equation.
w-6=3 Use the Distributive Property.
W-6+6=3+86 Step 1
_C_; =9 Step2
2T s
x=3 Stop 4

f combining like terms?

4. Lok at the steps used when solving 3(x—2) = 3 for x.

1. Zeros:

2. Yintercept:

Domain:

Vertex:

[
3 2?2 A Step1
3 2 - 5. Swep2
B) 'é*To"l s
2,2
)3 o3|
3=l

Axis of Symmetry:

LI

Range:
7. Extrema:

8. Interval of Increase:
9. Interval of Decrease:
10.End Behavior:

Asx>—on,1(5) >

Asx> o0, 1) .

1 Zeros:

Yentercept:

Domain:
Vertex:

i of Symmetry:

L

Range:
Extremas:

8. Interval of Increase:
9. Interval of Decrease:
10. End Behavior:

Asx>-, 19 >

Asx>+e0,1(5) >

11.AROC [, 1]

Name
Quadratic Characteristics ~ TOTD.
n

Name.
Quadratic Characteristics ~ TOTD

i \

fl=-2lx-2)*

Transformations:

Domain:
Range:

eintrcep(s)

yeintercept

Vertex

Axis of Symmetry.
Interval of nerease:
Interval of Decrease:
Extrema:

End Behavior:

Asxosn, f(e)
Asxoa, fld

AROC from (0, o, )

w+2) 8

)=

Transformations:

Domiin
Range:
sintreeptsy
J—

Vertex:

Avis of Symmetry:
Intervl of Incresse:
Toterval o Decrase:
Extrema

nd Behavior
Asxoa, o
Asx, Sl

AROC (2, Yo @, it

April 11, 2019
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Algebra 1 ~ U3C Day 2 Characteristics of Quadratics Notes
Characteisics of Quadratics
1 e |
2. Veintercept: Y ‘l :i
* e TRorl-osio) 4 o
+ e (o) (1,0) ( EaRY N
5. Axisof Symmetry: X = | \
& Range: (O) o) X2 Y3 \ -
7. EBxrema: 0| 010 ( 707 1
A D\L 7
5. tnterval of Decrease: (— o, | 7| Q
. 1o €
10. End Behavior: umc[f,hxl A aolf

) )

Slope Formula
y

ie
1

Describe the transformations.
1

vz 6 [y=v-2

z 7 T,
y=5¥

3 [y=G-2° 8 [y= G+’

% -1+l 9 [y=G-D-1

T
y=36-27

0 [y= 261

April 10, 2019, Wednesday
(Vo g

Bo
SAMPLE ITEMS [\‘
the function represented by the quadratic expression 5x° + x - 32

erIA(R) % (-1)-3
BoxZanax-r A1) +())~3

mS
P

1
2
3
A Oftems
B. 35kems

C. 10items and 60 items.
D. 20 items and 30 items

3
D. x=-tandx=—3

rlex of the graph of f(x) = x° + 10x

number(s) of items sold is the company's profit qu‘a m?

ng x itoms. For which

e rtems
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STANDARD FORM of QUADRATICS Hi TERTEX FORM of QUADRATICS

Algebra 1v~ U3CDay 3 X c.mvmvsm—)smmmrnxm
y=ax*+bx+c —a(x—h)z+k ) g ne

v )y = 2GF3 S ) y=26+ 122+

x 9 AM 9=(m“” Y=2(x$30x#3) - 57 4= tstxms -2

VER«FE: \ SF MF@RM y= xt %3,'){?});.;‘34 1y= by - g Y= Rz):(cztz} :‘|) 2
Y=xtroxr s |ys2send S ‘J Tz

''''''''''' 8 P—LE——!—:’“‘ v Lp12xt 3

r“wxExpond'hesquore]blnom\ul| ! v a(X'IXx i q] ‘j-zx M 3 Zx qu

\( -| 2) y= x-1°+8 4) y= —(x—4)7+3
step2Multiply the two binomigls &

RN AN AN ol S x Zlx k)
SO, e, o EOh metmoc. - .n

|
stzp 2. Distribute if necessary & > %"’ “2(x* 2y N~y
combine fike constants fems. =L MK-2 - q

L o==242 .4 Converting STANDARD > VERTEX Form Notes

* STANDARD - VERTEX FORJ e

3

EXAMPLE 2x2 4+ 12x— 4 hl'l-’— =5 :@
y=2 z__x____.l Ze.

2,

)
2. Identity a, b, & c. B 9 ja= =_)Qec==Y , K= W 4€(~‘()+
—s? ———————————— -@ ---------- =qlx- W k= <4,
| IR =195

U y=—2x? —16x—
X [ 2¢* ~ 16 32

{step.2. Find Ihe lin€ of symmeiry or h' by

i e R )
i\

Y= za(x- h)®
. yz~1(x= 4y

- H ; 'kg-gqu)’-r_\'c LJ*‘(X*\) 4
; g ok oo dbover | = | Y=30=9)2-71

| [ <tep = Find Ihe y-value of he verlex or k'

by substituting ‘r_'\mm ihe equation. || 9 || K=2 (-3)1_‘ () -y{2

The a’ wil be the ‘a’ found instep 1. |

SR

- Nome
Convcn Verlex (o Slandard Form & Slandard Io Vertex Form VF -2 SF

April 11, 2019, Thursday Convert from Vertex form to Standard form for cach cquation betow. 1 )& X@anel binemigd

b =31 2 A=t 3 Z)I'lu]-},pl.j
SAMPLE ITEM 3)Comlm« Vike
1. Acertain population of basteria has an aver.)ge growth rate of 2%. The formula for the growth of u) "
the bacteria’s population s 4 = P, = 1.02', where P, is the original population and t is the time 40{7 < all 4b;(+(_
in hours.
H you begin with 200 bacteria, about how many bacteria will there be after 100 hours? 3 £ = (e aP 1 4 7)== 52
AT
B. 272
c. 1449 Yy XY  x¥
2. The points (0, 1), (1, 5), (2, 25), and (3, 125) are on the graph of a function. Which equation
D. 20,000 mbmeﬂi{hﬂl ﬁﬁﬂiwn?
— =1 Z :2 5) fl)=lc-31+2 6 fl)=(x=27 -1
B. fix) =3
€. =4

D. fix}=5"
e\
- 7 9=y 6 8 700 -(ce2 s

X -
X
9) fl)=-2r-af -4 10) 1) Faa -5

F0=-20x-3Xx-3) Y
H00=-TELR )+
{0z~ 2xanx g o
)< 224 2x- N

Convert from Standard form o Vertex form for each equation below.
1) flx)=x* xnlz 12) flx)=x-8x+12 SF > VF
Q= -3 e=)? naz bz c-
NS Dhe-b —
K= l"l )"' ?W)‘V‘ 3= @ TOTD - Converting Quadratic Functions

TO0=1(x=4)%"3 L k= 30\95‘_ tue Comert et s i

13) Sl =2 +6r+ 1000z [X=NIeD  14) S()=x +20- D r=le=2Vea 2 v 1)ed
into ons\nd)
€gn,

) £1x)- alx- ¥k

15) fl)=x*+6x+7 /@ 16) f(x)=x* = 8x+ 18

17) Sl =2 =6x+12 18) f(x)=x*-8x+ 14

Convert the given equations from standard form (0 vertex form.

D y=i-bre1s 4 y=-3r 1828

19) f(d)=-2*+2x-2 20) flx) =27+ 12v+20
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Study Guide Unit 3¢ Name

=G (¢!

5.Converty = x! + 4x +4tovertex | 6. Whatis the vertewhnd axis of

h)2HK
e

form, then e | of 206047 (iKY 4

graph a-.l b=l czy

-y
= = -2 A(4,1)x=1 B(41);x=

\’\K Cz)wcz)-u#'?@,n,x:&

(2,0

y=1(x<=20%0

Vi

L

cos)/"

ERLTe 4
. yaav
4 i
7. Convert the 8. Convert the

vertex form: y = x? - 8x + 13
Ozl b=-8 ¢=
h=-k .28 _

2o 20007

into
standard form: y = -2(x - 4)2-4

Study Guide Urit 3¢ Nome.

Find the . vertex. b. axis of symmetry, and c. xntercepts, and d. y-intercept of sach quadratic function
aph.

trom ts g

0

[@ G re=

Transformations:

Tintercept s of Symmetry
Addtional Practice t Rubrics and Exemplar Responses
ttem 17
Exemplar Response
Points.
aoints ‘Sample Response.

Part A The zoros are 2 and 4
aND

o find the zeros, 1 set the value of the function equal to 0. Then | factored the quachatic
expression on the right side of the equation. Next, | used the Zero Product Property to set
each factor equal 0 0. Then | Solved each of the resulting equations for x. These values of x
are the zeros of the function. Or other valid explanation.

4
aND
Part B: The coefficent of the x* is positive, 50 the funciion opens g, which means t has a
minimum value instead of & maximu. Or other valid explanation.
D
“The minimum value of the function is 1.

3| The student correctly answers three of the four parts

2| The student correctly answers two of the four parts

1| The student correctly answers one of the four parts.

0| Response is imelevant, inappropriate, or not provided.

error in one part that parts, then the student

Mot
St penatsed aga o s S over.

Page 254 01258 Georgia Milstones Algebra | EOC Sty Resource Guide for Students and Parents

Copyrt 812018 by G Depatment o Esston. ALt et

The first four terms of a sequence are shown.

16,48, 144, 432, . ..

' K= (%‘-3(\4)-33:
$x)=alx- INSL
Foo=y(x- )
AP0 (- W=-37
prative tems
tem 17
Extended Constructed-Response
Parta = - 6 + 7 Explain how you determined your
answer. Wrie your answer i the space provided.
Pane know X -ox e 10h and not
Fina the function. Wrte y
provided
Parth
Parts
Georga Wilestones Alebra 1 EOC SiudyResource Guide for Sudents and Parents  Page 237 of 255
April 12, 2019, Friday
..quiz
Constructed-Response

‘What is the explicit function, f(n), that defines the sequence? Explain how you determined your
answer. Write your answer in the space provided.

Match the given characteristics to the given graphs, then identify th

Graph: Graph:
Domain: (=0,0) Domatn (20,05
Range: [=2,00) Range

Vertex: Vertex:

Zeros: Zeros

yeintercept: yeintercept: (0,10)
Intof Increase: (2,0) It of Increase:

Intof Decrease: (0,2 Intof Decrase:
Extrema; at xrema: MIN @ (2,2)
End Bohavior. ind Bohavior.
Asx> o0, 6) > Asx> o0, ) >
Asx> 0,19 > Asx> 0,109 >
Transformation Transformations:
Stretch 2, Right Jown

Graph: Graph:

Domain: (=09, 00) Domain: (=00, 00)
Range: Range: (0,2

Vertex
Vortex

v o Symme

o v s of Symmetry: X
Zoros:

yntercepr: (0.0)
yintercept

Intof Increase: Intof Increase:

It of Decrease: I of Decroase
Extrema a Extrema a
End Behavior: End Behavior:

Asx> o, (9> -0

Asx> e, () > ~00 Asx Dt > =00
Transformations: Asx> w10 =00

Transformations:
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Ay=-2(x+3)*+2 By=20—-27%-2 —— o .
; ‘Then,’ it graph.
1L 2x+17-5 P — .
< Asotsm « wésarsm R
 Gomain  bomain
v
PRSP JUSNI
y e s,
3 y=-Gi2"-5 4 y—30 4F 12

‘Write the quadraic equarion of the graph that has been.._
5. shifted down L and shrunkby afactor of % | 6. reflected over the x-axis and has shifted right 2

Ci
7y 2x—17+4 By G@rai-6

9 y=x'+6x-2 10y=x+8x+1
D 5 B T v+ 105 =07

quadraticy = 2(x ~ 3)* + 47

@ (5,66

@ @-3x=3 b 69

b @ 4)x=4 9 (59

o Ganx=3 @ (5.3

) (4,3);
e 1.

2) f) =¥ ~3-10
b) f) =2 +3c-10
O [@) =t +x-12
O FG) =x* =558

functony - ~22% - 5x -+ 15 opensup or
down, and why.
2) Because 2< 0, the parabola opens
down.
b) Because 2 < 0, the parabola opens up.
©) Because 23>0, the parabola opens
down.

) Becausea > 0, the parabola opens up.
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